C‘V

H#Y
(79.5) o W—-,/}Z} , X=€ , g=1-e"

)<-(’: = -
«C, pce
&:Zxxt“}'?&‘f: -4 € xe't
XZ_;__"L + %
J X
- .X__é[_i;l—e—i
Ny 5(‘2""‘7’-
(19.5) 2= Gwesi (’(’J) x= st
) ’ y:/'-ZS?[
g -
X - W”‘( ! / ‘2; - =
= e7) )
W’/x—&,])
X = 2-¢ Ye = — 2¢
=
———

Q V'f—(YU)L }/1-— QCVJ)L
A— (v- |
( J> = 41— ( ¥4t 2 28t ——-I»z
— _( {
(s+t)' + 2 @ﬁ)z = <5+6>Q (2- é%)?—)

_ 2 (s++)
Tz > ~____.__._.__-------2
M(&Lﬂ (2 - éﬁﬂ Vo - (s+)"

2¢




#H12 u
. ‘2-' —_— _
(te.5) e v s Qs 3 ve 2e- 24
g / / v
2“ - Y -L T/’ - Li?‘-f—VL
-+ (%)
> / ( i) —a
y = vyt - ye = 2y v
1+ (%)
‘/(S = 2 VS - 2
(’(f‘ = 3 {/f = 2
2v 2y 2v- 27
ZgT 2o Y + 2, s wis v’ T a2t a?4v’t
2y g e Aut3T
2p 0= 2u Gy PR K 2 wmrE T WEn T T e’

H 2%

i\
(.‘J! -
pou
4!’4
/\
W
oS
~|=
{
fo
%
N




